00 100 (2005/04/21)

oo 1
000 o, p0000000000DOO00OOODOODOOOOO

1. Re(a+f)=Re(a)=*Re(f)
2. Im(a+8)=Im(a)+Im(3)
3. Ja+ 6] < |al + 6]
4 af = 18] < |a = B
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a; = ri(cos () +isin(6y))
ay = ro(cos () + isin (0y))
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1. ay/ag = (11 /r2)(cos (01 — 02) + isin (6, — 62))
2. of =r(cos (nby) + isin (nbd))
3. et = M
4. eM72 = ™ [e*2
5. (e*)*2 = gm0z
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(a+p8)+y=a+(8+~) (DODODOODOODOOODO)
a+Bf=8+a (DOO0DOODOOOOD)
a+0=« (D0O0DODOOOO)
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4 a+(—a=0

(af)y=a(By) (0OODDODOOOOD)
6 af=p6a (0O00O0O0O0O0O0OODO)
7 a-1l=a (000O0O0O00000)
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af+7y)=af+ay (0O0O)
ad=1000000000000a#0) (00D0OO0O0O0O)
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(1) at+f=a+p
@)  ap=ap

(4) a=a
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©  oa=laf
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. at+a, 2 af+aB, 3. (a+pB)(@+p).
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(a® +b*)(c* + d*) = (ac — bd)* + (ad + bc)?
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. a+a=2, 2. |a+1|=2,

3. |la—-1|=|la—i|, 4 o*000 =n.
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1. 22=i, 2. 2°=—-1, 3. 22—241=0, 4. 22=—-1+i.

o0 17 e =cosf+isinf 0000 cosAO sinf0 0 e 000000



